

State of Rhode Island, Department of Administration Division of Purchases One Capitol Hill Providence, Rhode Island 02908 www.purchasing.ri.gov (401)574-8100

This solicitation has been awarded to the following vendor(s):

Vendor Name	PO Number
PEDRO GOMEZ dba BARNEY'S UNIFORMS	3602765
PEDRO GOMEZ dba BARNEY'S UNIFORMS	3602764

1TEM NO. 	DESCRIPTION Section B - Community College of Rhode Island (CCRI) CCRI consists of 4 campuses; deliveries will be made to be Flanagan Campus in Lincoln and the Knight Campus in Wa	QUANTITY	UNIT PRICE	EXTENDED PRICE
	Section B - Community College of Rhode Island (CCRI) CCRI consists of 4 campuses; deliveries will be made to b		PRICE	PRICE
25	CCRI consists of 4 campuses; deliveries will be made to be			
25	CCRI consists of 4 campuses; deliveries will be made to be			
25	CCRI consists of 4 campuses; deliveries will be made to be			
25		oth the		
25	Fianagan Campus in Lincoln and the Knight Campus in Wa			
25	http://www.ccri.edu/			
25				
25				
	10500 Trausers Desta	120	\$ 88.50 /ea	\$ 10,620.00
	8560 - Trousers. Pants		Ψ/08	·
	will be fitted; no stitching to be visible on pant leg,			
	hems all will have a 1-inch black braid.			
	Color: Black			
	Material: Polyester			
	FY 19 - 11/1/18 - 6/30/19			
				\$ 10,620.00
26	8560 - Trousers, Pants	120	<u>\$</u> 88.50 /ea	\$ 10,620.00
	will be fitted; no stitching to be visible on pant leg,			
	hems all will have a 1-inch black braid.			
	Color: Black			
	Material: Polyester			
	FY 20 - 11/1/19 - 6/30/20			
	1120-11/11/13-0/00/20			
	8910 – Short Sleeve shirt, Blauer	120	\$94.50 /ea	\$ 11,340.00
27		041	φ/οα	φ
	Material: Rayon with epilates (grey w/black border;			
	silver buttons patrol officers, lieutenants will have			
	grey w/black border with gold buttons on pockets.			
	Captains, deputy and Chlef will have			
	black w/gold border with gold buttons			
	on pockets/epilates. A uniform patch			
	will be on left and reverse American flag on right.			
	Color: Heather Grey			
	FY 19 - 11/1/18 - 6/30/19	-		
28	8910 - Short Sleeve shirt, Blauer	120	\$ 94.50 /ea	\$ 11,340.00
-20	Material: Rayon with epilates (grey w/black border;			
[sliver buttons patrol officers, lieutenants will have			
<u> </u>	siver buttons patroi oncers, neutenants win nave			
	grey w/black border with gold buitons on pockets.			
	Captains, deputy and Chief will have			
	black w/gold border with gold buttons			
	on pockets/epilates. A uniform patch			_
	will be on left and reverse American flag on right.			
	Color: Heather Grey			
	FY 20 - 7/1/19 - 6/30/20			
				11 500 00
29	8900 - Long Sleeve shirt, Blauer	120	<u>\$96.50 /ea</u>	\$11,580.00
	Material: Rayon with epllates (grey w/black border)			
	silver buttons patrol, lieutenanis will have			
	(grey w/black border) gold buttons on pockets.			
-+	Sleeve Cuffs, blk 1/2" line.		h	
	Captain, deputy, chief will have black w/gold border,			
	gold buttons on pockets. Sleeve cuffs blk/gold			
$ \longrightarrow $	border. Police Patch on left shoulder and reverse			
	American Flag on right shoulder.			
	Color: Heather Grey			
	FY 19 - 11/1/18 - 6/30/19			
30	8900 – Long Sleeve shirt, Blauer	120	\$ <u>96.50</u> /ea	\$ 11,580.00
	Material: Rayon with epilates (grey w/black border)			
-+	silver buttons patrol, lieutenants will have			
	(grey w/black border) gold buttons on pockets.			+
	Sleeve Cuffs, blk ¼" line. Capiain, deputy, chief will have black w/gold border,			+

.

.

,

	CHMENT "A"			ICVTENDED
IEM	DESCRIPTION		UNIT PRICE	EXTENDED PRICE
0.		· · · · · · · · · · · · · · · · · · ·		FRICE
	gold buttons on pockets. Sleeve cuffs blk/gold			
	border. Police Patch on left shoulder and reverse			-
	American Flag on right shoulder.			
	Color: Heather Grey			
	FY 20 - 7/1/19 - 6/30/20			
31	210 – Blauer V-neck sweater	30	\$ <u>102.50</u> /ea	\$ 3075.00
	Color: black with uniform patch on right shoulder			
	and reverse American Flag on left shoulder			
	FY 19 - 11/1/18 - 6/30/19			
32	210 – Blauer V-neck sweater	30	\$ <u>102.50</u> /ea	\$ <u>3075.00</u>
	Color: black with uniform patch on right shoulder			
	and reverse American Flag on left shoulder			
	FY 20 - 7/1/19 - 6/30/20			
33	8300 - Blauer Tie, Black, 18 & 20 inch	30	\$ 8.00 /ea	\$240.00
	FY 19 - 11/1/18 - 6/30/19			
34	8300 Blauer Tie, Black, 18 & 20 inch	30	\$ 8.00 /ea	\$ 240.00
	FY 20 - 7/1/19 - 6/30/20			
				1
35	Uniform Hats Blauer		\$ 78.00 /ea	\$ 2340.00
	Color; Black with borders above the brim.		<u> </u>	
	and the state are stated and the stated and the state are stated and the state are stated and the sta			
	All hats will be pinned down, patrol officers will have			
	silver band and badge. Lt.'s & Capt.'s, Depuly, Chief			
_+	will have a gold band and badge.			
	FY 19 - 11/1/18 - 6/30/19			
			\$ 78.00 /ea	\$ 2340.00
36	Uniform Hats – Blauer		<u>\$ 78.00 /ea</u>	\$ 2340.00
	Color: Black with borders above the brim.			
	All hats will be pinned down, patrol officers will have			
	silver band and badge. Lt.'s & Capt.'s, Deputy, Chief			
	will have a gold band and badge.			
	FY 20 - 7/1/19 - 6/30/20			
			10.50	
37	9101 - Reversible hat cover, Black	30	\$ <u>16.50</u> /ea	\$ 495.00
	FY 19 - 11/1/18 - 6/30/19			
38	9101 - Reversible hat cover, Black	30	\$ 16.50 /ea	\$ 495.00
	FY 20 - 7/1/19 - 6/30/20			
1				
39	9154 - Basebali style police cap, Blauer	30	\$24.50 /ea	\$ 735.00
<u> </u>	Color: black, adjustable strap w/CCRI PD logo			1
	white lettering for patrol,			
-	gold lettering for It.'s, capt.'s, chief			
	FY 19 - 11/1/18 - 6/30/19			
40	0154 Baseball style police cap. Playor		\$ 24.50 /ea	\$ 735.00
40	9154 - Baseball style police cap, Blauer		φ_~	Ψ
	Color: black, adjustable strap w/CCRI PD logo			
	white lettering for patrol,		· {	
-+	gold lettering for It.'s, capt.'s, chief			+
	FY 20 - 7/1/19 - 6/30/20			<u> </u>
			+ 22 50	\$ 1350.00
41	Number Boards –Lt. & Patrol officers will have	60	\$ 22.50 /ea	\$
	black/grey border. Captains & Chief will have			
T	black/gold border. Honor Guard will have			
	white/black border.			
	FY 19 - 11/1/18 - 6/30/19			
			[
42	Number Boards -Lt. & Patrol officers will have	, 60	\$ 22.50 /ea	\$ 1350.00

•

÷

•

.

Page 6

TIAU	HMENT "A"		
EM		QUANTITY UNIT	EXTENDED
0.	DESCRIPTION	PRICE	PRICE
	black/grey border. Captains & Chief will have		
	black/gold border. Honor Guard will have		
	white/black border.		
	FY 20 - 7/1/19 - 6/30/20		
	FY 20 - 7/1/19 - 6/30/20		
		30 \$ 320.00	a \$ 9600.00
43	9910Z – Blauer winter jacket	30 <u>\$ 320.00 /</u> e	
	Color: black with uniform patch on right shoulder		
	and reverse American flag on left shoulder.		
	FY 19 - 11/1/18 - 6/30/19		· · · · · · · · · · · · · · · · · · ·
-			
44	00107 Blover winter lasket	30 \$320.00	a \$ 9600.00
44	9910Z – Blauer winter jacket		
	Color: black with uniform patch on right shoulder		
	and reverse American flag on left shoulder.		
	FY 20 - 7/1/19 - 6/30/20		
45	733 - Blauer, Raincoat, Black	30 \$ 185.00 /	ea <u>\$ 5550.00</u>
	FY 19 - 11/1/18 - 6/30/19		
+			
	780 Disust Deinsset Black	30 \$ 185.00 /	ea \$ 5550.00
46	733 – Blauer, Raincoat, Black		
	FY 20 - 7/1/19 - 6/30/20		
47	6001 - Reversible Jacket, Blauer	30 \$ 185.00 /	ea \$ 5550.00
	Color: Black		
	Uniform patch on left, reverse American flag on right,		
	silver buttons for patrol, gold buttons for Lt.'s,		
_			
	Capt.'s, Deputy, & Chief.		
	FY 19 - 11/1/18 - 6/30/19		
48	6001 - Reversible Jacket, Blauer	30 \$ 185.00 /	ea \$ 5550.00
	Color: Black		
	Uniform patch on left, reverse American flag on right,		
	silver buttons for patrol, gold buttons for Lt.'s,		
	Capt.'s, Deputy, & Chief.		
	FY 20 - 7/1/19 - 6/30/20		
49	Thorogood Classic Leather Oxford Shoe	30 \$ 128.90 /	ea \$_3867.00
	Color; Black		
	FY 19 - 11/1/18 - 6/30/19		
	1113-11110-00010		
	They are ad Cleanin Leather Outerd Shap	30 \$128.90 /	ea \$ 3867.00
50	Thorogood Classic Leather Oxford Shoe		<u></u>
_	Color: Black		<u> </u>
	FY 20 - 7/1/19 - 6/30/20		
51	Thorogood-Dri Boot, Color: Black Stk: 834-6529	30 \$ 128.90 /	ea <u>\$ 3867.00</u>
	FY 19 - 11/1/18 - 6/30/19		
	Thorogood-Drl Boot, Color: Black Stk: 834-6529	30 \$ 128.90	ea \$ 3867.00
52			
$ \rightarrow $	FY 20 - 7/1/19 - 6/30/20		
			1005.00
53	Garrison Beit, Color: Black	30 <u>\$</u> 33.50 /	ea \$ 1005.00
	Silver buckle for pairol, gold buckle for		
	Lt.'s, Capt.'s & Chlef		
<u>-</u> +	FY 19 - 11/1/18 - 6/30/19		
	F118-11/1/10-0/30/18		
		30 \$ 33.50 /	ea \$ 1005.00
54	Garrison Belt, Color: Black	30 \$ 33.50 /	ea <u>\$ 1005.00</u>
[Silver buckle for patrol, gold buckle for		
	Lt.'s, Capt.'s & Chlef		
	FY 20 - 7/1/19 - 6/30/20	Total CCRI	\$ 142,428.0

.

· ·

ι

• •

		'HMENT "A"			
ITEM NO.		DESCRIPTION	{· · · · · · · · · · · · · · · · · · ·		
NU.		DESCRIPTION			
		DELIVERY AS REQUESTED			
	┥	BLANKET REQUIREMENTS: November 1, 2018 - November 30, 2020		····	
	_	Campus Police			1
-+	-				
		The following specifications apply:			
		No return or restock fee to be added. If an item is returned, there will not be a	return fee, a	restock fee, or	
		associated with a re-order. No shipping fees to be added. Shipping is to be incl	luded in price		
	┥	of item.			
-+	╡	Section A - Rhode Island College	[
		Rhode Island College is a single campus in Providence RI.			
	1	http://www.ric.edu/			
	-				
	+		QUANTITY	UNIT	EXTENDED
-+	┥			PRICE	PRICE
1	╡	Blauer Cruiser Jacket - 901OZ	8		2,560.0
	1	Color: Dark Navy			
		Sew on two shoulder patches. Hard epaulet matching uniform piping to be sewn on			
		in place of original piping. (Note: 48" chest and up will have a 20% additional			
	_	FY 19- 11/1/18- 6/30/19			· · · ·
2	+	Blauer Cruiser Jacket - 9010Z	8	325.00	600,0
		Color: Dark Navy	0	525.00	
		Sew on two shoulder patches. Hard epaulet matching uniform piping to be sewn on			
		in place of original piping. (Note: 48" chest and up will have a 20% additional			
	4	FY 20 - 7/1/19 - 6/30/20			
3		Walls Blizzard Proof Ultra Cover-All - Style Color: Black	4	168.00	672.0
		Reflective stripe sewn on legs. Silver embroidery lettering (RIC police) sewn on			
		suit. Badge tab and velcro for badge number board to be sewn on right chest.			
	-	(Note: Sizes XXL and above will have a 20% additional charge)			
<u> </u>	╉	FY 19- 11/1/18- 6/30/19			
4	1	Walls Blizzard Proof Ultra Cover-All - Style	4	170.00	680.00
	1	Color: Black			
		Reflective stripe sewn on legs. Silver embroidery lettering (RIC police) sewn on			
		suit. Badge tab and velcro for badge number board to be sewn on right chest.			
		(Note: Sizes XXL and above will have a 20% additional charge)			
-+	4	FY 20 - 7/1/19 - 6/30/20			
5	╉	#733 Blauer Defender Reversible raincoat	3	185.00	555.00
Ť	_	Color: Black/F Yellow		100.00	
	_	(Note: Sizes XXL and above will have a 20% additional charge)	<u> </u>		
	Ţ	FY 19 - 11/1/18- 6/30/19			
	1				
6		#733 Blauer Defender Reversible Raincoat	3	185.00	555.00
		Color: Black/F Yellow (Note: Sizes XXL and above will have a 20% additional charge)			·
		FY 20 - 7/1/19 - 6/30/20			
7		#210 Blauer Commando V-Neck SweaterColor: Dark Navy	4	102.50	410.00
	-	Sew on the following: Velcro to hold number board (on right chest) piping and			
		epaulets to match uniform.		· · · · ·	
-+		(Note: Sizes XXL and above will have a 20% additional charge)			
	ť	FY 19 - 11/11/18 - 6/30/19	l		+
	┫			-	t

8		#210 Blauer Commando V-Neck Sweater	4	102.50	410.00
0		Color: Dark Navy			
		Sew on the following: Velcro to hold number board (on right chest) piping and			
		epaulets to match uniform.			
		(Note: Sizes XXL and above will have a 20% additional charge)			
		FY 20- 7/1/19 - 6/30/20			
9		Uniform Long Sleeve Shirts	24	118.00 \$	2,832.00
		per spec No. 4290-URI-04			
		#333 Range by Hamburger, 55% Dacron Polyester/45% wool with a mechanical			
	-	10-12% filling stretch. 141/2 oz. serge weave			
	-	Color: Navy Blue			
		(Note: Chest size of 48" and above will have a 15% additional charge)			
		FY 19 - 11/1/18- 6/30/19			
				110.00	0.000.00
10		Uniform Long Sleeve Shirts per spec No. 4290-URI-04	24	118.00	2.832.00
		#333 Range by Hamburger, 55% Dacron Polyester/45% wool with a mechanical			
		10-12% filling stretch. 14 1/2 oz. serge weave			
	_		· · · · · · · · · · · · · · · · · · ·		
	-	Color: Navy Blue (Note: Chest size of 48" and above will have a 15% additional charge)		h	
		FY 20 - 7/1/19 - 6/30/20			
11		Uniform Trousers	24	118.00	2,832.00
	_	Per Spec. No. 4290-URI-03			
		Trousers uniform dress (Winter)			
	_	Color: Navy Blue with Maroon Piping			
		FY 19 - 1/11/18- 6130/19			
12	-	Uniform Trousers	24	118.00	2,832.00
14		Per Spec. No. 4290-URI-03		110.00	2,052.00
		Trousers uniform dress (Winter)			
		Color: Navy Blue with Maroon Piping			
		FY 20 - 7/1/19 - 6/30/20			
			24	115.00	2,760.00
13	┝	Summer Uniform ShirtsSpec No. 4290-UR1-02	24	115.00	2.760.00
	┝	#651 Range by Hamburger Custom Tailor fitted to individual.			
	⊢	Material: 55% Dacron Polyester/ 45% worsted wool, 10-12% mechanical filling			
	┢	stretch.			
<u> </u>	-	FY 19- 11/1/18- 6/30/19			
14		Summer Uniform Shirts	24	115.00	2,760.00
		Spec No. 4290-URI-02			
	┝	#651 Range by Hamburger Custom Tailor fitted to individual. Material: 55% Dacron Polyester/ 45% worsted wool, 10-12% mechanical filling			
	┝	stretch.			
	\vdash	FY 20- 7/1/19- 6/30/20			
15		Summer Uniform Trousers	24	115.00	2,760.00
	_	Spec. NO. 4290-URI-01			
		#333 Range by Hamburger custom tailor made.		 	
	-	Material: 55% Dacron Polvester/45% wool with a mechanical 10-12% filling	· · · · ·		
	┝	Breaking strength: warp: 195 lbs.			
	┢	Filling: 170 lbs.	1 1		
	\vdash	Fiber Length: 3-3.5"	- <u> </u>		
<u> </u>		Weight: 10.5-11.5 oz. serge weave	<u> </u>	<u> </u>	
	⊢	Color: Navy Blue with Maroon Piping			
	⊢	(Note: Waist sizes of 42" and above will have a 15% additional charge)	<u>├</u>		
	\vdash	FY 19 - 11/1/18 - 6/30/19	<u>├</u>		
	⊢				
16	⊢	Summer Uniform Trousers	24	115.00	2.760.00
	⊢	Spec. NO. 4290-URI-01	4T		<u>~</u> .,
		#333 Range by Hamburger custom tailor made.	1 1		
	┢	Material: 55% Dacron Polyester/45% wool with a mechanical 10-12% filling			····
L	<u> </u>		<u> </u>	11	

		startah Construction, 75 and not inch 67 night not inch		<u> </u>	I
	_	stretch. Construction: 75 ends per inch, 67 picks per inch	<u>_</u>		
+		Breaking strength: warp: 195 lbs.			
┝──┤	_	Filling: 170 lbs. Fiber Length: 3-3.5"			
\vdash	_	Weight: 10.5-11.5 oz. serge weave			
\vdash	_	Color: Navy Blue with Maroon Piping			
	-	(Note: Waist sizes of 42" and above will have a 15% additional charge)			-
\vdash		FY 20 - 7/1/19 - 6/30/20			
	_				
17		Dress Garrison Hat	10	78.00	780.00
		Type: Garrison/Round		, 0100	100100
		Material: 55% Dacron Polyester/45% Wool with a mechanical 10% -12% filling			
	_	stretch.	· · · ·		
	_				
\vdash		Weight: 14 1/2 ounce serve weave P & F			
	_	Construction: Leather Sweat Band with two row of red sash on band. Plastic			
		badge ring holder above front band.			
		FY 19- 11/1/18- 6/30/19			
			10	70.00	700.00
18	-	Dress Garrison Hat	10	78.00	780.00
		Type: Garrison/Round			
		Material: 55% Dacron Polyester/45% Wool with a mechanical 10% -12% filling			
		stretch.			
		Weight: 14 1/2 ounce serve weave P & F			
		Construction: Leather Sweat Band with two row of red sash on band. Plastic			
	-	badge ring holder above front band.			
	_	FY 20 - 7/1/19 - 6/30/20			
19		Blauer 8110X Mock Turtleneck	20	32.50	650.00
4		3XDRY. 90% cotton/ 10% LYCRA blend fabric with 4-way stretch performance	2v		0,00
		10.5 oz. jersey knit. Dark Navy.			
		FY 19- 11/1/18- 6/30/19			
_20		Blauer 8110X Mock Turtleneck	20	32,50	\$ 650.00
		3XDRY. 90% cotton/ 10% LYCRA blend fabric with 4-way stretch performance			
	_	10.5 oz. jersey knit. Dark Navy.			
ł		FY 20 - 7/1/19 - 6/30/20			
- 11	_	Thorogood Commando II- The Deuce > 8" Waterproof Lace Up Boot		138.50	\$ 1.385.00
21		Upper: Black full Grain Leather/Black Action Leather/1200 Denier Nylon	10	156.50	1.202.00
	_	Construction: Cement			
		Outsole: Two Density Rubber with Integrated EVA Impact Pads			
		Lining: Two Zone Wicking Mesh			
	_	Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow			
		Shank: Composite			
		Soecial Features: Total Non-Metallic. Thoro>dri TM WATERPROOF System.			
┟───┤		FY19 - 11/1/18 - 6/30/2019		··	1
22	1	Thorogood Commando II- The Deuce > 8" Waterproof Lace Up Boot	10	138.50	s 1385.00
		Upper: Black full Grain Leather/Black Action Leather/1200 Denier Nylon			
		Construction: Cement			
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads			
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh			
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow			
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Insert With Air Flow			
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Special Features: Total Non-Metallic. Thoro>dri TM WATERPROOF System.			
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Insert With Air Flow			
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Special Features: Total Non-Metallic. Thoro>dri TM WATERPROOF System.			
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Special Features: Total Non-Metallic. Thoro>dri TM WATERPROOF System. Blood Borne Pathogen Compliant. Special Features: Total Non-Metallic.			
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Special Features: Total Non-Metallic. Thoro>dri TM WATERPROOF System. Blood Borne Pathogen Compliant. FY 20 - 7/1/19- 6/30/20			
23		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Special Features: Total Non-Metallic. Thoro>dri TM WATERPROOF System. Blood Borne Pathogen Compliant. FY 20 - 7/1/19- 6/30/20 Thorogood Classic Leather Oxford Shoe Image: Complexity Complexit	10		- 1,289.00
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Special Features: Total Non-Metallic. Thoro>dri TM WATERPROOF System. Blood Borne Pathogen Compliant. FY 20 - 7/1/19- 6/30/20 Thorogood Classic Leather Oxford Shoe Upper: Black Smooth High Shine Leather	10		- 1,289.00
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Special Features: Total Non-Metallic. Thoro>dri TM WATERPROOF System. Blood Borne Pathogen Compliant. FY 20 - 7/1/19- 6/30/20 Thorogood Classic Leather Oxford Shoe Image: Complexity Complexit	10		- 1,289.00
		Construction: Cement Outsole: Two Density Rubber with Integrated EVA Impact Pads Lining: Two Zone Wicking Mesh Insole: Removable Two Density Polyurethane "Shock Zone" Insert with Air Flow Shank: Composite Special Features: Total Non-Metallic. Thoro>dri TM WATERPROOF System. Blood Borne Pathogen Compliant. FY 20 - 7/1/19- 6/30/20 Thorogood Classic Leather Oxford Shoe Upper: Black Smooth High Shine Leather	10		- 1,289.00

	Insole: Removable Dual Density Ultimate Shock Absorption TM Footbed			
	Midsole: Rubber			
	Shank: Fiberglass			
	Special Features: US Postal Certified. Made in USA by ISO 9001 Certified Shoe			
	FY 19- 1/1/18- 6/30/19			
_		10	128.90	1.289.00
24	Thorogood Classic Leather Oxford Shoe			
	Upper: Black Smooth High Shine Leather			
	Construction: Goodyear Weave			
	Outsole: Single Densitv Soft Polyurethane			
	Lining: Comfort Weave			
	Insole: Removable Dual Density Ultimate Shock Absorption TM Footbed		i I	
	Midsole: Rubber			
	Shank: Fiberglass			
	Special Features: US Postal Certified. Made in USA by ISO 9001 Certified Shoe			
	FY 20 - 7/1/19 - 6/30/20			· · · · · · · · · · · · · · · · · · ·
			Total RIC	\$ 39 018.00